| Efficiency vs Dxy |

)
X

©
#.18
>
D.161
D
D.14
©
0.12

0.08
0.06
0.04
0.02

Ratio

0.2

0.1~

0

..............................

e

—’.'_i :

.........

.......

0.5

—
S g —

b4

..........

n

)

0-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

| Efficiency vs Dz |

z

efficiency vs d

Ratio

T TT retrain
It_TT_NEWdefault_specPLessl

it

EWdefault_specPLess2

EWdefault_specPLess3

T

=
N

T

o
©
[

o
o))
[

0.4

..................

..................

..................

..................................................

..................................................

..................................................

—“NEWdefault“specPLess4

10

30
TP dz (cm)




	Contents
	Page 1


